
PAGE 1 OF

REV.

HAMMOND
MANUFACTURINGTM

D A T A C O M

TOOL BOX

BUL10405
B

1

CABINET AND OPEN FRAME ASSEMBLY INSTRUCTIONS FOR
GKIT GANGING KITS

INSTRUCTIONS:

1)  For Cabinets: Punch out the 5/16" Dia knockouts, located on
     the side of the frame.  8 knockouts per frame.  See Detail A

2)  Slide frames together and fasten using 1/4-20 hex head
     bolt (Item 1), 1/4 split washer (Item 2), 1/4-20 KEP Nut
     (Item 3), and 1/4 flat washer (Item 4).   See Detail B

Socket
Set

DETAIL A

2PUNCH OUT
5/16" DIA KNOCKOUTS

8 EACH FRAME

DETAIL A

Hammer Striking
Tool

ITEM QTY DECRIPTION
1 8 1/4-20 HEX BOLT
2 8 1/4 SPLIT WASHER
3 8 1/4-20 KEP NUT
4 16 1/4 FLAT WASHER

DETAIL B

DETAIL B

CABINET GANGING DETAIL

OPEN FRAME RACK GANGING DETAIL

4

3

1

4


